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q1 = 4.5x10!6  C( )
   at y1 = .0125 m

Vorigin = k q1

y1

+ k q2

y2

           = 9x109 N•m2 /C2( ) 4.5x10-6  C( )
.0125 m( ) + 9x109 N•m2 /C2( ) !2.24x10-6  C( )

.0181 m( )
   "    Vorigin = 2.12x106  volts

q2 = !2.24x10!6  C( )
   at y2 = !.0181 m
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q1 = 4.5x10!6  C( )
   at y1 = .0125 m

Vorigin = k q1

r1
+ k q1

r2

           = 9x109 N•m2 /C2( ) 4.5x10-6  C( )
.0195 m( ) + 9x109 N•m2 /C2( ) !2.24x10-6  C( )

.0234 m( )
   "    Vorigin = 1.21x106  volts

q2 = !2.24x10!6  C( )
   at y2 = !.0181 m

x = .015 m
r1
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r2r1 = .015 m( )2 + .0125 m( )2( )1/2

  = .0195 m

r1 = .015 m( )2 + !.018 m( )2( )1/2

  = .0234 m


